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Instructions :

ENGLISH VERSION

(1) All questions are compulsory.
(2) Marks are indicated on right side.

1 Specify the meaning of variation in quality in the production 20
process.
OR
1 Draw c-chart and state your conclusion about it : 20
Sample No. 112 4 (51617 9 |10 (11|12 (13|14 (15
No.of Defects |15 (12 (6 (2010|214 (18|16 |12 8 | S | 7 (14| 6
2 Explain components of time series and its analysis. 20
OR
2 Fit y=a+bx and estimate profit for the year 1998 : 20
Year: 11992 | 1993 | 1994 [ 1995 [ 1996
Profit: | 40 | 50 62 | 58 60
3  Explain : Demand and Demand rule, monopoly, elasticity of 15
demand.
OR
3  The demand function of a thing is x= 30—\/; . Find the 15
elasticity of demand when p = 100.
4  Explain : Marsinal utility, Cobb-Dauglass production function. 15
OR
. . 10xy—y—x .
4 Production function z=/'(x,y)=————— and per unit 15
value of x, y and z are 4, 4, 9.
Find maximum profit.
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